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General Instructions.
o FHUAT FARTT FX & HA 40 T £
Please ensure that there are 40 questions.
e U UF & U 3R &I FE&AT IR dHe &l
AT ca@rT IR GRETRT & Ugel o6 W ferdr
ST ATiga|

The candidate should write the code number and
set on the first page of the answer sheet.




o fhET TR #T IR AT YE Fel § Ygol IHI
AT 379y TorgaT drfgu]|

Before starting to answer a question, the serial
number should be written.

o IW YR & faRed g IJfAaRFT 3R
giederr sTel & aeelt| g W ford 3R fafed
3 of hIC|
No additional answer sheet will be provided apart

from the answer sheet. Write in points and do not
strike out written answers.

o TU&TAT YA YT W HUAT Ul A Ay
| Uo7 AR & 3fARFT 98T 99 W 3
Fo 8 o oy
The candidate should write their roll number on the

question paper. Nothing else should be written on
the question paper apart from the roll number.

o WREAl & W &l ¥ Ugdd T§ FARYd X b
3MYeRT |ET 3T qUT 9o 9 f&ar I g1 ol
& dIG 39 GEY H HIs &rar AT oJal alam|

e Before answering the gquestions, ensure that you
have been given the correct and complete question




paper. No claims will be entertained after the
examination in this regard.

AT e
General Instruction:

Read the following instructions very carefully and
strictly follow them.

(i) Question paper comprises six sections A, B, C, D, E
and F. There are 40 questions in the questions
paper. All questions are compulsory.

(ii) Section A-Question no 1 to 20 are Objective
questions ( 1 to 20 -multiple choice ) carrying 1 mark
each.

(iii) Section B-Question no 21 to 28 are very short
guestions, carrying 2 marks each.

(iv) Section C- Question no 29 to 32 are case study
qguestions carrying 3 marks each.



(v) Section D- Questions no 33 to 36 are short
answer type questions, carrying 3 marks each.

(VI) Section-E Questions no. 37 to 39 are long answer
type questions, carrying 5 marks each. Answers to
each question should not exceed 120 words.

(vii)Section F- Questions no 40 is map based,
carrying 5 marks. Part A is from history (2marks) and
part B is from geography (3 marks).

(viii) There is no overall choice in the question
paper. However, an internal choice has been
provided in few questions. Only one of the choices in
such questions has to be attempted.

(IX) Attach map along with your answer book.
(x) In addition to this, separate instructions are

given with each section and question, wherever
necessary



Section — A (1x20)
@AEIAS JHR & Te)

(Objective type uestions)

1.5€H THS I TATYAT fohdel hiI?
A. TATHT Tadeprele
B.EATHT &Telc
C. HGICHT Jmef
D.3WIed H H HIS oTg!

Who founded the Brahmo Samaj?
a) Swami Vivekanand

b)Swami Dayanand

c) Mahatma Gandhi

d)None of the Above

2.3 HATS &1 Hel A el AT &2
A.GRTOT
9
B.d¢
C.acITd hrar



D.3UUFT H & IS g

What is the fundamental text of Arya Samaj?
A) Puran

B) Vedas

C) Satyarath Prakash

D) None of the Above

3. 3fRAT IR ATHS TEAT T a9 T H 87
A.8791d f8E
B.d AT
C.EEGR 9cd
D.3UFd H A IS gl

Which institution is associated with Abhinav Bharat?

A) Bhagat Singh
B)Veer Savarkar
C)Sardar Patel

D) None of the Above



4. TR T HeAT he §‘§?

A.1921
B.1923
C.1928
D.1925
When did the Kakori incident occur?

A) 1921
B) 1923
C)1928
D)1925

5. TSIl & AR &
AIfdg s &SR
B.HGTHT JMedT
C.gHY g S 9
D.39UFT H & P g

Who is the author of the national anthem?
A) Ravindera Nath Tgore

B) Mahatama Gandhi

C) Subhash Chander Bose



D) None of the above

6.9 I FEH T S2AM il AT &7
A.77° 25'E
B. 68°25'E
C.97°25'E
D.82° 25'E
What is the easternmost longitude of India?
A) 77° 25'E
B) 68° 25'E
C) 97°25'E
D) 82°25'E

7.7 TAF U 0@ CU & fAardt § o o Hr
AIAT AT & G g o9l gl 3T JdAST, 9
hlel AT 2 g2
A.9TToREdTA
B. #TelehT
C. eI

D.3TT




My friend is a resident of a country that does not
share a border with India. Can you tell me which
country itis?

A) Pakistan
B) Srilanka
C) China

D) Iran

8.dqcH F # 3T HaWl H Fg drell Tael A
AT & @ T gl AT g2
Aol

B. ATAYA
C.9TogAT Taefsr

D.3UFd H & IS gl

What is the name of the wind that blows in the
northern plains during the summer season?

A) LOO

B) Monsoon

C) Western Disturbance

D) None of the above



0.f5F Tt Youmel H MRl HFT AT SieAcl
CaRT TRaT SATAT 8, 38 AT gl AT 872
A TRSIS d3
B. lehcd
C.FelleT o
D.3UFd H U IS gl

What is the name of the system of government in
which the rulers are elected by the people?

A) Dictatorship

B)Democracy

C) Oligarchy

D) None of the Above

10. GTIYUTT AT H HAGIET HAET & 3ETeT Dl
?

Who was the chairman of the Drafting Committee in
the Constituent Assembly?

A) Nehru

B) Bal Gangadhar Tilak

C)Bhim Rao Ambedkar



D) None of the Above

11. HIQUTd HHT ¢dRT AU HI e AT
IgT?
A.26 STeTa<l 1950
B.26 AdeX 1949

C. 26 S[elTg 1946
D.3WIFd H & HIS Tg0

When was the Constitution adopted by the
Constituent Assembly?

A) 26 January 1950

B) 26 November 1949

C) 26 July 1946

D) None of the Above

12. HEY fAars 3ged Hr Agiad sl s
g7

A. Trseafa

B. TIToTHAT



C.HRd & HTT ~ATATHIRA
D.3UUFT H & P g

Who appoints the Chief Election Commissioner?

A) President

B) Prime Minister

C) Chief Justice of India
D) None of the Above

13. RO o A A JA™WRRE 1 Jola

Fundamental Rights are described in ................ part of
Indian Constitution.

14. gRA HIld ART H v, Geh h Hd A
T §5?

Green Revolution begin in ................. decade in India?
15. ¥ Gl T GYATAA .ooovvvrrcrrnre & %

37 AT &7



Agriculture, forestry, and animal husbandry sector
are fallunder........cccoevvvvvvveinenennnen, :

16. ST 31 97 &1 8§72
What is GDP?

17. AR & &9 T # @Yaar &1 a9a &A
gfaerd 9™ Jrar g7

Which state in India has the lowest percentage of
poverty?

18. USET HIH & dgol 3ol HRISH e 9]
e311?
o

When was the National Food for Work Programme
launched?

19. HINFYA:- ATl Y T S o 1943 S&T &
3ToTre, @G Wi & deER Tl |




HRU- Aol A féq ARH, {eg Tl &I I |
JAT T H HAT Peh TAYGIAS Thdl I Higlk

3cTeoT fhaT|

A) A 3R R gl e g 3R R, A &1 @@l caream

e |
B).A 3R R gaf T § 3R R, A FI Hgr =arean
el & |

C)A 7od & afdhel R TEY ¥ |
D) A 3R R g T § |

Assertion: Netaji Subhas Chandra Bose took charge of
the Azad Hind Fauj in 1943.

Reason: Netaji promoted communal unity and harmony
by recruiting Hindus, Muslims, and Sikhs equally in the
army.

A) Both A and R are true and R is the correct
explanation of A .



B) Both A and R are true and R is not the correct
explanation of A .

C) Ais false but R is true.

D) Both A and R are true.

20. AAFYT: TfAUTAT dTel HH W AT gfaaer Sormar
el

FROT: g 1 IfFd dleg a¥ 4 FA 3P & T3
& fhdl FREE I1 Gl AT Yo 3R Seemel S
fPel 3T TRATP HH H HH & folw
frgereT oTgT & HeheTl B

A) A 3R R gl ¢ g 3R R, A &1 @@l oaream

e |
B).A 3R R gl T g 3R R, A FI Tgr sarear
el & |

C)A 7Taid & afdhed R TEY ¥ |



D) A 3R R &=t @cT § |

Assertion: The Constitution also prohibits child labor.

Reason: No one can employ a child below the age of
fourteen to work in any factory or mine or in any other
hazardous work, such as railways and ports.

A )Both A and R are true and R is the correct
explanation of A .

B) Both A and R are true and R is not the correct
explanation of A .

C) A is false but R is true.

D) Both A and R are true.

Section — B (2x8)

(3T TYSRICHAS 7

(Very Short Answer Type Questions)



21. §97 o7 TaUrel 3Miererer &ar amr?
What was the Anti-Partition Movement of Bengal?

22. SAlSTdleT ARA THT & 366T T A?

What were the objectives of the Naujawan Bharat
Sabha?

23. AT AT SNl & F& NS Aged I |

What are some economic importance of rivers and lakes?

24. dAAGATS dC W Md K & a0 gl & F4T
HRUT &7

Why does it rain in the Tamil Nadu coast during the
winter season?

25. §H TIAYUT $I aeIhdT FAT 87 IS &l HRUT
g |
Why do we need a constitution? Give two reasons.

26. ARG Iy & fev 9w Hifosd 3R &
AT ToId.



Write the Fundamental Rights mentioned in the Indian
Constitution.

27. A Yall AT & Tareed §r ar gfAwr g2

What is the role of health in human capital formation?

28. TSEIT HIH & dGel 3ellol hIAhd FIT &7

What is the National Food for Work Programme?

Section — C (3x4)

Source Based Questions

29. IR & fAsITS &1 AT FROT FAFAA ofier A
HveRF AarRurT ot 1906 §o F FAReA ofier it
TGAT 36 WHER & e @ & g8 oAl
ARPeH oflor & Iua 3R A ¥Tose wT fam 4
fF s gEeaEl F que Tosiifas Ffaca &
T # 3% Ral fr wwm e qgRaw 6o &
HEY & T a4 9T - S g9 Hl SISH ded
Fedqul W AEAT FARE F R{QQT F@ qur



AT G eI T A ARordA offer o ameft
St &7 GTT AT ATl 1939 $o F I fafesr WaHR
1 AFAE AfdAt F RAAT F FR9 & ARAzT o
e ¢ ffar @Y e A gaaHAE # #qRd
fRaw Aa= & AT F7r | 1940 ¥R A F¥awH ol
A HEA & fAv qus Faas U qifeEdae @b
AT gt gEard 9Id aRX& 39T FTqad I5T &
fT gu¥ Fwem IR = RAT 59 IR FAFawH
der Y AVEIRedr F FRUT § GfFEdeT TH
HATM A & T H H¥dca & 34T | 38 TET
et & gt o1 o qUT A9 vF FAeAe A
I AP FT fGF1 9% & 37 WdE F @R
HIAT &1 o wifreasr &1 gwda agt an 33
& T Fcd - A FET F FEW W &I FA4T
a7 gifhedreT doaet d % & ATl



29. 1 YIfHEAT I TH A ISC & T & TS
FI GTeAT HISeT hie AT UT?

29. 2 YT HIRIARY fgad Far 91

29. 3 AR ofor & @ FEW F1 AR
YR T aram?

The main cause of India's partition was the communal
ideology of the Muslim League. Established in 1906 with
the encouragement of the British government, the
Muslim League had clearly stated its objective of
protecting the interests of Indian Muslims as a separate
political entity. The Muslim League's relationship with
the Congress was strained, except for a brief period of
five to six years. It did not support Gandhi in opposing
the Simon Commission or in launching the Civil
Disobedience Movement. In 1939, when the Congress
ministries resigned in protest against the British
government's arbitrary policies, Jinnah called on
Muslims to observe "Deliverance Day." In 1940, the



Muslim League passed a resolution demanding a
separate independent country, Pakistan, for Muslims,
and began a struggle for a separate state. Thus, it was
the communalism of the Muslim League that led to the
creation of Pakistan as a separate country. He distanced
himself from the national movement and thwarted the
Wavell and Cabinet plans. He opposed every proposal
that did not support Pakistan. By orchestrating riots and
violence, he pressured the Congress and succeeded in
creating Pakistan.

29.1. Which organization was instrumental in
establishing Pakistan as a separate nation?

29.2. What was Direct Action Day?

29.3. How did the Muslim League oppose the Congress?

30. TR &Y oersrer el A Fad T AT A
e Fdt &1 98 TsT § 3w, AgRre [ [ER
OREH 9 T AT Y| &% AT gfee @
TGS 98 93T ToT § O el sRa A



Fel STAUEAT FT TN Hael 5.5% 81 2011 F HRA
HT TATETT Helcd 382 o¥fdd Ufad ot fraisiex
qT| STgT R &1 SHEaT "eicd 1102 sgf@d 9fa
gar fhelldleT & T@r IPoad U H I§ 17 fad
gfa feafier @1 9ddr & qur gfdsa SeEy
ITEYTT 37 &A1 1 foRer Jaaear & fav smer
g1 I3 v FRFR T TSI FT FAEET
Uelcd AEIHA gl TeTSl, F¢ S U Tyl o,
AEIH § $H I U9 FA 395 AE 3 A=Al
& SEHEAT Udcd I FHIfad FIdl §1 a0 A
WO Td AT A A F FAEEI UeAcd Tgd
qr$ srelt ¥ aur gafeq AT F ast @l ¥

30. 1 SAGEAT Golcd & FIT ATAYT §?

30.2 JTAHEAT Hdcd IOF A & FI-FIT SRS
8 TFhd &7



30.3 &19%e # gFC ¥ TSTYA FIH F37 TS g
& draolg H TST FTHEAT Uedcd HH T4l o7

Nearly half of India's population resides in just five
states: Uttar Pradesh, Maharashtra, Bihar, West Bengal,
and Andhra Pradesh. Rajasthan is the largest state in
terms of area, but its population accounts for only
about 5.5% of India's total population. In 2011, India's
population density was 382 persons per square
kilometer. Bihar had a high population density of 1102
persons per square kilometer, while Arunachal Pradesh
had a low density of 17 persons per square kilometer.
Mountainous regions and unfavorable climate
conditions are responsible for the sparse population in
these areas. Assam and most peninsular states have a
moderate population density. The hilly, dissected, and
rocky terrain, moderate to low rainfall, and less fertile
soil affect the population density in these states. The
northern plains and Kerala in the south have a very high
population density due to the presence of flat plains,
fertile soil, and adequate rainfall.

30.1. What is meant by population density?



30.2. What are the factors that can lead to high
population density?

30.3. Why is the population density low in Rajasthan
despite being the largest state in terms of area?

31. IfFEATST & Salel 9 HINE A HFgal 1999
# dfasF aedamae i EEs Nl IFN AFAEE
g ¥ Tl TR H 3@13 B 3R g A T F
ATy sEEN T fFan g F 3R gg A
Ieeafa aifT @Far 3k 2002 F o SEAT TAT
FAHT HYAT FRAGIA 5 AT & faw Fear form
qifede #Afzar AFa 3RWeER Ferea 3k dwaa
& AT &1/ &A@ gl F IRT T F SqTAd
e TH WEYg ¢ AR A 9 YA W
Tsaf3al 1 S FIMETET 2002 H Iegled  oflerer
thigsh ST & SIRT YIfhEdlel & HRAU HI dGd
STl 3§ TST & TR Tsedfa, T AR wicdr



ydafaat & T & F@har gl # aRwg &
FHAPTST W TF T @I IRue 1 AeRweEd
TEdl §1 38F SAEIR WEET Wi s &1 5w
FEAT & IH B A F 95 T HR g
vafodt & fav ga@ wU AT I OUER
i # g ot g g gu wRmfEt &
$o HUPR off A Afea gafea awr Far & &
W@

31.1 ATAC HIE Use F FAT IR &2
31.2 A% d&Ed™de & Far AU 22

31.3 AT 2002 A NPT HHAAS 3HST & SIRT
qIf$EdeT & dfaUe & FMUT & dgd Useufa Hi
Fq7 AR A

In Pakistan, General Pervez Musharraf led a military
coup in October 1999, overthrowing the democratically
elected government and declaring himself the Chief



Executive. Later, he declared himself President and
extended his term for five years through a 2002
referendum, which was widely criticized by Pakistan's
media, human rights organizations, and democracy
activists for alleged large-scale irregularities. Musharraf
also introduced the Legal Framework Order, amending
Pakistan's constitution to grant the President authority
to dissolve national and provincial assemblies. A
National Security Council, primarily comprising military
officers, oversaw the ministerial council's work.
Although elections were held for national and provincial
assemblies, the military retained supreme power.

31.1. What is meant by referendum?
31.2. What is meant by military coup?

31.3. What powers did the President get under the
Legal Framework Order (LFO) amendment to the
Constitution of Pakistan in August 2002?

32. AR A F a¥ A fFuer ofier srerer-arerr
%He SHTAT Yer #T g &, Fife g1 R &



gfawfa caaear 31 qeAR A e sredr &
1§ At 3HF HET woE I 93T fF A=
geufd & S A a9 aF R FIAT F W
gaRT 9l e #X sR-oR Wdl fr R
Fd A AR 7 @ F Reel @ 9w g
dFdl ¥ SAGT THESHN &1 § s & A
=g &1 51 Tl A IRH A FT AdRT TWHR
GART ST AT & G eal ot FaEr a 3r9a sl
daRd EMA YR FT QU aRomATaeT 1970 %
GF F AET T 200 §FCW & X I g &T A
fras g oeftl o af F Fe Y W oF @
ST BHA a1 FIA T TG G JoTell FEd
gl 9% A & Bl vF 3 A Iue G M
HIQ AT YOrrell 81 Tedq? & @l fraer wa
¥ FA QA AET HH YT FA 81 F¢ fraer R



95E - W aul ¥ e wEdT F w7 A e Ya
W &l

32.1 HT¥ T Waer yrdegaeyr & Fw & @ 82
32.2 AR A Ao & gqufa fFe R aqa
TS ?

32. 3 9ERAY FA JUSll F FAT HAIE §?

In Palampur, farmers are able to grow three different
crops in a year because of a well-developed irrigation
system. The introduction of electricity had a significant
impact on irrigation methods. Prior to this, farmers
used to irrigate their small fields using traditional
methods like Persian wheels. With the advent of
electricity, farmers began using electric tube wells,
which proved to be more effective for irrigating larger
areas. Initially, some tube wells were installed by the
government, but soon farmers started installing their
own private tube wells. As a result, by the mid-1970s,
almost 200 hectares of land were being irrigated.
Growing more than one crop on a piece of land in a year



is known as multiple cropping. This is a common
practice to increase production from the same land. In
Palampur, all farmers grow at least two main crops.
Some farmers have been growing potatoes as a third
crop for the past 15-20 years.

32.1. Which sector of the economy is agriculture related
to?

32.2. How has the irrigation system changed in
Palampur?

32.3. What is meant by multiple cropping system?

Section — D (3x4)

(TISHIHF T2eT)

(Short Answer Type Questions)

33. 3T ATHA I HTAAT Plad dTel AR I3T
T JuTeT hy|

Describe the newspapers that criticized British rule.



34. HelgeR 3 Yurardl gar A Aal TUSE |

Distinguish between evergreen and deciduous forests.

35. HNCAT Tt YOl & il ol gofed |

Describe the flaws in the Indian electoral system.

36. TR THY Tl AT dATdT g2 PIS ol HIOT
g |

Why does the government create a buffer stock? Give
three reasons.

Section — E (5x3)
(GECIEaR D)

(Essay type Questions)

37. ARG B g HT 3Ud TT AR HI

SITEIT Y|

3gdar



AR TadIdT IMH H AT 79T 3ol hr
{fAST W =T A

Explain the origin and spread of the Quit India
Movement.

OR

Discuss the role of the Civil Disobedience Movement in
the Indian struggle for independence.

38. R & YAW -3Mpfas femer wid- & §?
AT &1 IUT Y¥Ed9y 9oR & 3TIidd oIgToil
H a1 IR 87

3gdr

Wiehfdeh fAealdl & MMUR W #ART & 3T Hele
BT PieT Pl T IR HAEPN H T ST ohdl g2 90T
HIfST|




What are the major geomorphic divisions of India? What
are the differences between the Himalayan region and
the Peninsular Plateau in terms of their relief features?

OR

On the basis of physical variations, how can the northern
plains of India be divided into four regions? Describe.

39. §UE $T ATFIAT AT AT T JUTA |
372qaT

THUTAHAT o hIT dAT ATFadAT &l gUTeT |

Describe the powers and functions of the Parliament.
OR

Describe the powers and functions of the Prime Minister.
Section — F (1x5)

(MAP SKILL BASED QUESTION)(2+3=5)

Q.40 A. On the given outline map of World show the
following places:



faeg & RRu v FR@r ARy R Reafaf@a
TYTAT HI SATBT:
Famous places of 1857 revolt
A.Jhansi
SITEY
B.Ambala
EiCICI
Q.40B. On the given outline map of India show the
following places: 3

R & feu aIv FR@Er ARE # Aeafaf@a
TYTAT &Y S2ABT:

A.Malabar Coast

HlelldIL dc
B.Jim Corbet National Park

S Fide AATT Ih

C.Yamuna River

T A



